EASYLANGUAGE CODE FOR THREE-BAR INSIDE BAR
Input: Tr(0.75), SI(0.75);

Condition1 = Close > Close[1];
Condition2 = High < High[1] AND Low > Low[1];
Condition3 = Close < Close[1];

vars: mp(0);
mp = marketposition;

If mp = 0 then begin

If Condition1 and condition2[1] and Condition1[2] then Buy next bar at
Open;

If Condition3 and condition2[1] and Condition3[2] then Sell Short next
bar at Open;
end;

If marketposition = 1 then begin
Sell next bar at entryprice+(entryprice*Tr/100) Limit;
Sell next bar at entryprice-(entryprice*S|/100) stop;
end;

If marketposition = -1 then begin
Buy to Cover next bar at entryprice-(entryprice*Tr/100) Limit;
Buy to Cover next bar at entryprice+(entryprice*SI/100) stop;
end;
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